® 4:5=8:10

@ 182 =33

12

@D 35

® 16-2=3:7

@ 9-5=1+3



2.






54 : 45




A et 2orgeh £
Ap10] W= LERAL 2.

450g 570g



6.




7. 102 3:22 H|HHESIA| Q.



8. e 72078E o1l 9= (Vh e (W) 7 Hell 5: 42 veo] e
FUh (L) oAA S HRo] Folof shEA] 7oAl L.

B 4



4

M



i

10. ofd 17 % @9 B SloA £ 2ol BR A%
o]

) @
32 1]3]2
|1\121 1121
R R
® @
1 32
21 |1|12
3[1]1] 1
®
3
|1|12
1]




11. O 09 B F 74T 571 o B

e ol AU

DN| L =




12, cl5 ol & HOFS ¥HEY) S11AE 271U 2 A Bagizp

Yo




//§> i

[ [/

[ [/



14.

A



15. o5 H[9] gho] B Zrpal byt 13 Lof L4Bk2 5 Al diz
HAL,










18. 9ol Zx 2644}, f7lole XX 24 3t
FUth 3% #uE I +Y 1009HY-e F Abgo] Bt 2
gAre] H 2 vieo] ZEA AL gyt =9go] 7HAA He mds

TSHA L.

B @



19.

Ao & mofo] the T e B E B
AU B E N 2 eyl
9 iy deEx
7N



dl
Ct-
=



21.

29 stwel 65hd deb4of o g0 ¥z} 6 : 5 Y UTh
FeHg 3] ek obA gahESet of kg4l W7k 5 : 47} )
ggytt. 3ol 1st 0] Hof 6hd Wekyset ofshygol g
A 2.

-

v

o 3



22.

12 30% %<t 1.6kmE 221, 3
217} 9laUch e wE s 14
2 L7} glofof oh=A] AL5HA 2.

Be :

=13
=

Z

R

1L

308

=
=
[€)

12km

=
=

=

|=3
=
il

.
—
eil=lz

=



|

kd = 4l



&4tk 5 Abge]

1

o3
=

7HA]

o] ©
—dE

= 5000 ¥, 3] o]= 3800

ool

24.

o] 7} 3: 27} F it

=



25. thg-e Al 129 Solel vlE Uehdl AT @ 129 Solt
3BBLY W, @ 1RO E°lE AL
1 1
@5@:?55 ©@:=5:9




